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=

=ÔÕÿ_Äª^=m Ë̆^Ñkÿ̂ =⁄®=fl_Í̊ ^ 

ä‹àÿ̂=Ô‘àêÿ̂=fl_Í̊ ^=

1201=Ô‘àè=‚ÍÈ’ j=ÓáÈ�kª^=m_ƒ_·îŸÿ=28L4L2014=

1301=Ô‘àè=É_¢d=∆‡_î‹=◊˙ã ^̊=22L5L2014=

2002=Ô‘àêÿ̂=ÔÎ·ùÈÿ̂=m_ÍË_›Î‘Ë3gŸÿ=4L6L2014=

2030=Ô‘àè=Ω_îª^=ÔÎfà≈ÿ̂=ÔÍÉÈ≈åÿ̂=
28L4L2014=29L4L2014=
21L5L2014=2L6L2014=

2040=Ô‘àè=œä¶^=ÌÉÈ≈åÿ̂=
15L4L2014=

2L6L2014=9L6L2014=

2150=Ô‘àè=m_ƒ_·îÿ̂=ÔÎr_räÿ̂=ÔÎ·ùÈÿ̂=
23L4L2014=28L4L2014=

21L5L2014=
8L6L2014=

2170=Ô‘àè=≤sŸÿ̂=1L6L2014=
2180=Ô‘àè=∆Î·îj=É^È‹=ÔÙg≈kÿ̂=ŒÎŸ…kÿ̂ Ë=7L4L2014=

2190=Ô‘àêÿ̂=ÔÍÉÈ≈åÿ̂=m_‹ÑÄŸÿ=ÔÎƒ_·îÿ̂=22L5L2014=

2210=Ô‘àè=Ú_∂=m_ÍË_›Î’ Ÿÿ=2L6L2014=

2220=Ô‘àêÿ̂=ÔÎ·ùÈÿ̂=∆Î·îkÿ=÷gãË=„É_≈ª^=

20L4L2014=22L4L2014=
5L5L2014=

18L5L2014=

2240=Ô‘àè=⁄‹^äÿ̂=á_›okã�ÿ=Ïƒ_·îÿ̂=
12L3L2014=
22L5L2014=

2320=Ô‘àè=≤�f_gÿ̂=Ô–_�Ÿÿ=m _̆îj ^̌Ë=
23L4L2014=
25L5L2014=

2380=Ô‘àè= f^á=àÍà’ kŸÿ=m_ÍË_›Î‘Ë3gÿ̂ Ë=18L5L2014=
3090=Ô‘àè=l·5`=◊Ègj=9L6L2014=
4004=Ô‘àè=ÊÿÉ=m_‹ÑÄŸÿ=ÔÎwîÿ̂=8L6L2014=
4030=Ô‘àêÿ̂=ÔÎ·ùÈÿ̂=ÔÍÉÈ≈åÿ̂=⁄—·Ÿÿ=Ìàwgÿ̂=4L6L2014=
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4050=Ô‘àêÿ̂=ÔÍÉÈ≈åÿ̂=m_‹Ñ¶=m^á_Îåÿ̂=m^Ñ≈ª^Ë=2L6L2014=3L6L2014=

4080=Ô‘àè=4åƒ=Óá_skŸÿ=Ôv_Îåÿ̂ Ë=Ôƒ_·îÿ̂ Ë=
29L4L2014=

20L5L2014=27L5L2014=
4090=Ô‘àè=ÔgÎù=Ôòf_—ÿ̂=27L5L2014=
4100=Ô‘àè=Ô’ ‹=Ú_ê‡�ÿ=4›≈kÿ̂ Ë=28L5L2014=
4110=Ô‘àè=÷j_f=á_›okã�ÿ=€_›ƒ ^̊Ë=ÔÎkårÈŸÿ̂=27L4L2014=
4140=Ô‘àêÿ̂=ÔÍÉÈ≈åÿ̂=m^áÉ_îŸÿ=ÔÎƒ_·îÿ̂=19L5L2014=
4200=Ô‘àè=çÍáÑÿ̂=m_‹ÑÄŸÿ=ÔÎÿË3gÿ̂=Ë=m_ÎŸ—·ÿ̂=27L4L2014=
4290=Ô‘àè=tÎŸ¶^=hÍáÑkŸÿ=fiÎŸ≈kÿ̂ Ë=14L4L2014=
6001=Ô‘àè=Ï‡^ÈŸv=„^È~d=16L4L2014=

6090=Ô‘àè=„^â_r=Ô–_�Ÿÿ=ÔÎ›·kÿ̂ Ë=
17L4L2014=
1L6L2014=

 

 

 

 

 

 


